

In this day and age, more and more contemporary attention has been placed on the rise in the human lifespan. In this piece of writing, I would mention some of its impacts on people and the whole society along with a few solutions to mitigate the negative influences of this phenomenon. 

There are two main drawbacks that can result from this problem, among which is that it can put a heavy burden on the healthcare system. Indeed, the longer people live, the more likely they might be subjected to chronic diseases, such as diabetes, Alzheimer's, and heart attacks. If the number of people having longer longevity increases, the more serious responsibility to provide the elderly with decent medical treatments will fall on the government. In other words, the authorities need to allocate a larger amount of money to meet the demand of an aging population, which can cause a lack of financial resources in other aspects. Another problem of increasing life expectancy is its possibility of putting numerous pressures on the shoulder of the young generation. To be more specific, the upsurge in the proportion of retired individuals would require the young working people to pay a huge amount of taxes that are subsequently used to serve the senior citizens. ⇒ Nhớ rút gọn chỗ bôi xanh theo gợi ý nha chứ body 1 này còn dài & khá lệch so với body 2 nhé
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The government could implement a wide range of measures to alleviate the severe effects of this issue. The first solution is to raise the retirement age level, which means the elder have to work for a longer time to support themselves fiscally and continue to pay taxes, thereby reducing the strains and tensions placed on the younger. Another step that should be taken by the authorities is to strive to achieve further advancement in the healthcare sector by investing in more advanced medical research which can help reduce unhealthy conditions in old age so that senior people can live a healthy life without relying much on their offspring. ⇒ Nhớ là 2 solutions nên tương ứng giải quyết cho 2 problems nêu ở Body 1 nhé, và nhớ thể hiện phân rõ INDIVIDUALS & SOCIETY để giải quyết đầy đủ 2 thành tố đề bài nha 

In conclusion, there are two major issues caused by the increase in the medium life expectancy, and appropriate steps need to be taken to tackle these problems.  

